Name: ____________________________ By putting my name on this Quiz, I am bound by Erskine’s Honor Code and will not lie, cheat, steal or plagiarize on this Quiz.  I will not discuss the questions or answers with anyone.  

Quiz #3 (Thursday, September 22, 2016)

You have from 1:00-2:30PM for this Quiz

Directions:  Please read all directions and questions carefully.  The quiz is worth 25 points towards your final grade.
You CAN use your model kit.

Answer FIVE (5) questions.  If you answer more than 5, only the first 5 will be graded.  Clearly draw an X through the questions you are omitting.  Each question is worth 5 POINTS.

1.  Name TWO (2) of the following molecules using IUPAC rules.
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2.  Draw TWO (2) of the following molecules based on their names.

[image: image4.png](a) 2,2,4-Trimethylpentane
(b) 1,2,3,4-Tetramethylcycloheptane
(©) 2,2,4,4-Tetraethylbicyclo[1.1.0]butane




3.  Draw the ring/chair flip for TWO (2) of the following molecules.  Clearly show axial and equatorial in your molecule.
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4.  Draw a relative energy diagram showing the conformational analysis of 1,2-dichloroethane.  Clearly label all staggered (gauche, anti where appropriate) and eclipsed (syn where appropriate) Newman projections.

5.  Choose FOUR (4) pairs and determine whether they are: identical molecules, constitutional isomers, conformational isomers, cis-trans isomers.
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6.  Menthol, isolated from various mint oils, is used in the treatment of minor throat irritation.  Draw both chair conformations of menthol and indicate which conformation is lower in energy.  Explain your choice.
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7.  Choose TWO (2) pairs and determine which molecule is more stable in each chair.  You may find it helpful to draw out the chair conformations.  Explain your choices.
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8. Below is the numbered skeleton of trans-decalin

[image: image18.png]Identify whether each of the following substituents would be in an
equatorial position or an axial position:

(a) A group at the C-2 position, pointing UP
(6) A group at the C-3 position, pointing DOWN
(©) A group at the C-4 position, pointing DOWN
(d) A group at the C-7 position, pointing DOWN
(e) A group at the C-8 position, pointing UP
(f) A group at the C-9 position, pointing UP




